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Q.1. As per the invitation card
Rahim marries with Sayra on 13th

December, Monday.

a) No error

b) on 13th December, Monday
c) As per the invitation card

d) Rahim marries with Sayra

Answer: (d) Here, Rahim will marry Sayra
should be used.




Q.2. His parents usually spent (A)/ their summer in
Ooty (B)/ but this year they are spending it in
Darjeeling. (C)/ No error (D)

a) their summer in Ooty

b) but this year they are spending it in Darjeeling.

c) His parents usually spent

d) No error

Answer: (c) Usually in the sentence shows
general programme / habit. Hence,
Present Simple i.e. His parents
usually spend ..... should be used.



Q.3. All my hope (A)/were duped (B)/ and | was

plunged in deep sorrow. (C)/No error (D).
a) were duped

b) and | was plunged in deep sorrow.

c) All my hope

d) No error

Answer: (c) Here, All my hopes is the
right usage.



Q.4. He looked upon me eye to eye for a few

moments before he spoke.

a) No error

b) eye to eye for a few moments
c) before he spoke.

d) He looked upon me

Answer: (d) look upon (Phr. V.) : to regard someone/something
in a certain way

when someone directs their eyes towards something,

we say look at. Hence, He looked at me is the right usage.



Q.5. The teachers, who | worked with, were

very insensitive towards children’s needs.
a) were very insensitive

b) towards children’s needs

c) The teachers, who | worked with

d) No error

Answer: (C)
Here, The teachers, whom | worked with is the

right usage.
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Q.6. Indian women (1)/are good
(2)/ in cooking. (3)/ No error (4)

a) are good

b) in cooking.

c) Indian women
d) No error

Answer: (b) Good (at) = able to do
something well.



Q.7. Although | have never seen the girl before,
(1)/ | recognized her at once (2)/ from her
photograph. (3)/No error (4)

a) | recognized her at once

b) from her photograph.

c) Although | have never seen the girl before

d) No error

Answer: (c) The sentence shows Past time. Hence,
Past Perfect i.e. Although | had never seen the girl
before is the right usage.
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Q.8. You must abide on (1)/ the
terms of (2)/this government. (3)/
No error (4)

a) the terms of

b) this government.
c) You must abide on

d) No error
It is preposition related error.
abide by is a Phr.V.




Q.9. | answered (1)/ the
questions (2)/ as best as (3)/ |

could(4)/ No error (5)
a) | could

b) the questions

c) | answered

d) as best as

Answer: (d) Replace best with
good




Q.10. They came here in (1)/ the evening and begin
making (2)/ further arrangements. (3)/ No error (4)

a) the evening and begin making
b) further arrangements.

c) They came here in

d) No error

Answer: (a) First clause is in Past Simple. Hence,
the evening and began making (Past
Simple) .... is the right usage.



Q.11. It is painful to saw that some youngsters are
killing time without doing anything useful.
a) killing time without doing anything useful.

b) No error
c) some youngsters are
d) It is painful to saw that

Answer: (d)
Infinitive to + V1 (Plural)



Q.12. Essay writing is an art (1)/
that requires many planning (2)/

on the part of the writer. (3)/ No
error (4)

a) that requires many plannin e
b) on the part of the writer. IMI

c) Essay writing is an art
d) No el er: (a)
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Q.13. He assured me that he will
return in an hour.

a) that he will return
b) in an houir.

c) No error

d) He assured me
Answer: (a)
Reporting Verb (assured) is in Past
Tense.




Q.14. We, in India can look forward to a comfortable

and settle life in the twenty-first century.
a) life in the twenty-first century.

b) No error

c) to a comfortable and settle

d) We, in India can look forward

Answer: (c) Here, Adjective i.e., to a
comfortable and settled is the right
usage.



Q.15 | and my wife (1)/ were declared (2)/ the

best couple at the party. (3)/ No error (4).
a) were declared

b) the best couple at the party

c) | and my wife

d) No error

Answer: (c) Arrangement of persons =
231 i.e., second, third and first

persons.
Hence mv wife and!| <should be used



<YYYY
<5 Yy

-

B \
prrrvr'v

Y

¢

)
14
O
i
v
LL]
O
=
—
—
LL]
O
)




Q.16 Which one of the following

word is correctly spelt?
A) Equanimeous

B) Equanamous

C) Ecuanemous

D) Ecuanimous

Answer: A) Equanimeous



Q.17 Which one of the following

word is correctly spelt?
A) Scenary

B) Granery

C) Visionary

D) Luminery

Answer: C) Visionary
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Q.18 Which one of the
following word is correctly
spelt?
A) Achievment
B) Acheivment
C) Achievement
D) Achevement

Answer: C) Achievement
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Q.19 Which one of the following
word is correctly spelt?
A) admision

B) addimittion

C) admission

D) admition

Answer: C) admission



Q.20 Which one of the

following is correctly spelt?
A) Contemporey

B) Contamporary

C) Contemporary

D) Contemperary

Answer. C)
Contemporary



YTV
\ P Ty
4 »
= ”
o 3 ) 5
7 & 3 ¥
g.Y . P
Ry 0 E B
T ‘;"'J.'—. s =
v 9, - -~ 5 -
- . e 0" B 4
s ! -
R b .

Q.21 Which one of the following
word is correctly spelt?
A) Bouquete

B) Bouquet

C) Boquet

D) Bouquette

Answer: B) Bouquet
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Q.22 Which one of the
following is correctly spelt?
A) Embarassment
B) Embarrasment
C) Embarrassment
D) Embbarrassment

Answer: C)
Embarrassment
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Q.23 Which one of the
following word is correctly
spelt?

A) Vetniary
B) Vetarinary
C) Veteninary
D) Veterinary

Answer: D) Veterinary



Q.24 Which one of the
following word is correctly

spelt?

A) Entreprenuer
B) Entrepraneur
C) Entrapreneur
D) Entrepreneur

Answer: D)
Entrepreneur




Home Work

This is the cow
IS sweet.

A. which

B. Whom

C. who

D. whose




Home Work
Answer

In spite of the high sounding words, his speech fell
flat on the audience.

1. failed to make an impact
2. impressed a lot

3. appealed to the sentiments of the audience
4. could not be heard clearly
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